
P 80

Ms. Asgari



Let’s review.



How much are these shoes?

How much is this T-short?

How much are those gloves?

How much is that T-shirt cost?

How much does this T-shirt cost?

How much does that T-shirt cost?

How much do these shoes cost?

How much do those shoes cost?

£4

£4.15

£10.20

£50.60

It costs …..

It is …..

……..   ……    …..

…….    …….   …..

They …… ……..

They ……  ……..

……… ………. ………

…….  ………   …….. 



Make questions for the answers.

They are ……………… It costs ………..



It is ……………….. They cost …………….



Video related to clothes

• https://www.aparat.com/v/Ews7z/%D8%A2%D9%85%D9%8
8%D8%B2%D8%B4_clothes_%D8%A8%D8%A7_Steve_and
_Meggie



Which one do you like more ?



Listen and repeat .



tight shirt



baggy=loose shirt



baggy=loose jeans



modern



old-fashioned 



checked



striped



patterned



plain





1 2 3

4 5 6

7
8



Do you like ………..?

No, they are too tight.
No, they aren’t baggy enough.

No, it is too tight.
No, it isn’t ……. enough.

No, it is ……….
No, it isn’t large enough.

No, it is old-fashioned.
No, it isn’t……...



Do you like ………..?

No, they are too baggy
No, they ……. ……..

No, it ……. ……...
No, it isn’t long enough.

No, they are tight.
No, they ……….

No, it is loose.
No, it ………………..






